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1. Consider the following statements about
the Jorwe culture of the Deccan :

1. It covers, practically, the whole of
modern Maharashtra except the
coastal Konkan district.

2. The Pravara-Godavari valleys seem
to have been the nuclear zone.

3. The large sites of this culture yield
evidence of shifting agriculture.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 1 and 2 only
(c) 2 and 3 only
(@ 1, 2 and 3

‘2. Consider the following statements about
Madurai, the capital city of the Pandya
kingdom :

1;° -1t - has : bBeén ' ‘described in
Maduraikkanchi as a large grand
city, enclosed by walls on three
sides and the Vaigai river on the
fourth side.

2. The Arthashastra mentions it as a
centre of fine cotton textiles.

3. Other literary sources describe it as
a major craft centre.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d 1,2 and 3

SRSU-S-GKL/59A

3. Consider the following statements about

Sawai Jai Singh’s astronomical work :

1. He learnt of the accuracy of
European observations, and
obtained de La Hire’s tables from
which he reproduced a refraction
table.

2. His astronomers also developed a
telescope of their own to observe
the lunar phases of Venus.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

4. Man Kautuhal, a work on music, was

prepared under the aegis of

(a) Raja Man Singh of Gwalior
(b) Tansen

(c) Meera Bai

(d) Amir Khusrau

5. Consider the following statements

regarding the Sugamya  Bharat

Abhiyan :

1. This programme is initiated by
the Department of Empowerment
of Persons with Disabilities,
Ministry of Social Justice and
Empowerment.

2. It aims to develop an inclusive
society for persons with disabilities.

3. It has provisions of pension for
persons with disabilities.

Which of the statements given above

is/are correct?

(@ 1, 2 and 3

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1 only

[ P.T.O.
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6. Which one among the following was not
a part of the action programme of the
Non-Cooperation Movement?

(a) The Congress organisation was to
reach down to the village and the
Mohalla level

() Boycott of government affiliated
schools and colleges

(c) Taking control of the law and order
machinery of the State by the
Congress Working Committee

(d) Surrender of titles and honours
given by the government

7. Consider the following statements about
the Mauryan State and the forest
people :

1. The forest people were subjected to
new forms of political and economic
dominance and the necessity to
subordinate and assimilate them
led to a change in the earlier
attitude of excluding these people
from imperial territory.

2. The State recognised that the forest
produce was the sole monopoly of
the forest people.

3. The State was concerned with the
conservation of forests and to this
end the burning of forests was
prohibited.

4, The forest people could be
harnessed to serve the State and
could be used as troops, spies and
assassins.

How many of the above statements
is/are correct?

(@ 1
(b) 2
() 3
(@ 4
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8. At which of the following places was
diamond mining carried out during the
Delhi Sultanate period?

(@)
(b)
(c)
(d)

Awadh
Khambhat
Panna

Lakhnauti

9. Which one of the following statements is
true for James Webb Space Telescope
launched in December 20217?

(@)

(b)

(c)

(@)

It orbits the Sun, about 15 lakh km
away from the Earth.

It orbits the Earth, about
15 lakh km away.

It is stationary in space nearly
10 lakh km away from the Earth.

It revolves around the Moon nearly
3:5 lakh km away from the Earth.

10. Which of the following particles are
subatomic particles?

D

3.
4.

Electron
Proton
Neutron

Muon

Select the correct answer using the
code given below.

(@)
(b)
(c)
(@)

1 and 4 only
1,.2, 3iand ‘4
2 and 3 only
1, 2 and 3 only

[ P.T.O.



11. Ffse & fg-miva amn # F&SRm w=a 3, 3 14. T=fafea & @ BF-w1, vy o F F9 =0
WY B @ % Rrgia 1wt avly aear 27

(a) T Y FIH e o1

(@) FTEwA HH §
(b)) T frea & fim wEmEl f w@
(b) TR Fe-orE i T
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2. HEHHE IJTW F Wegw § affa F=
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9 i " (@) Fad 1
(d) W M % T Iwarh fmmg (b) HaA 2
(c) 1 3R 2
13. few S &1 fm-som s fgeam 8 (@) A A S
1 IGAA §7
16. Fefafas & ¥ F-d@ ‘waffted o9’ H
(@ 05 Mev Terdrwan =t & Wt 27
: (a) =afh Sl & Terifos 3Ry =afReme
() 900 MeV &1 W T 1 T
(b) SHEGR F FIYH! T THIRHR
(c) 100 GeV
(c) TH-Tci Y
(d) 1000 GeV (d) TR TETS < Tl
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11. Qubit refers to a two-valued quantity
used in

(a) classical computers
(b) classical cryptography
(c) quantum computers

(d) lasers

12. Photo 51 refers to an image of
(a) a crater on the Moon
(b) DNA molecules
(c) the virus responsible for COVID-19

(d) the virus responsible for common
cold

13. The rest mass of Higgs boson is
estimated to be close to

(@ 05 MeV
(b) 900 MeV
() 100 GeV

(d) 1000 GeV
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14. Which one of the following correctly
describes the principle of the working of
an atomic clock?

(a) Vibration of a small quartz crystal

(b) Simple harmonic motion of atoms
inside a crystal

(c) Resonant frequency in cesium
(or rubidium) atom

(d) Excitation and de-excitation of
hydrogen atoms

~ 15. Political analysis involves both normative
and empirical approaches. Which of the
following statements is/are correct
about the two approaches?

1. Knowledge acquired through the
empirical approach is value-loaded.

2. Knowledge acquired through the
normative approach is objectively
neutral.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

16. Which one amongst the following cannot
be a feature of a ‘totalitarian regime’?

(a) State control of the political and
often personal realms of individual
life

(b) A monopoly of the means of mass
communication

(c) One-party State

(d) Autonomy of civil society

[P.T.O.
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17. Which of the following statements are not

correct?

1. In world politics, ‘hard power’ can
be exercised by both States and
other actors involving use of threat
or coercion.

2. Globalisation is necessarily
economic, not cultural.

3. The term ‘Washington Consensus’
refers to a policy that seeks
intervention in the market.

4. ‘Autarky’ is generally understood as
economic ‘self-sufficiency’.

Select the correct answer using the
code given below.

(a) 1 and 4 only

(b) 2 and 3 only

(c) 2, 3 and 4 only

d 1,2, 3 and 4

18. Consider the following statements :

1. Under Part III of the Constitution of
India, individuals can enforce
rights guaranteed by this Part
when they are violated by the
action of a government authority.

2. Under Part III of the Constitution
of India, individuals can enforce
rights guaranteed by this Part
when they are violated by not
only the action of a government
authority, but also by its inaction.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

SRSU-S-GKL/59A

19. Consider the following statements :

1. The International Covenant on
Civil and Political Rights (ICCPR)
provides that everyone shall have
the right to recognition everywhere
as a person before the law.

2. Although India agrees in principle
with the ethos of ICCPR, it has not
yet ratified it fully.

Which of the statements given above
is/are correct?

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

20. Which of the following statements with

respect to the right to have a legal aid
is/are correct?

1. Under the Constitution of India,
it is given under the Directive
Principles of State Policy.

2. It is the duty of the police to inform
the nearest Legal Aid Committee
immediately after the arrest of a
person.

Select the correct answer using the
code given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.



21. ‘AFE A A wEdm G’ ¥ s,

frfafad 3 ¥ ¥F-w1/99-2 w9 ad ¥/37

1. %M 9won ¥ gy § 5 ) fedt
TeHIfos el % gey § firEieE ¥
T4 % foe g 39t F o vt ik 9wt
& H1 AFR B

2. 3 9o & yEye ® % ufigar seen
$ Tl I Brew, ®W HE B ugEa
% T & A & Q a2

T g T %2 1 W@ W wd 3w gh)
(@) %o 1

(b) Fad 2
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d Fd13RT&2

22. Tr=fifad & @ fFa dge U 16T #1 @ aw

o TR A qha o T 87
(@) g0 o Hio Hio

(b) 3o To Zo To

(c) Fo To Tdo Hio 3Ro

(d) To To 3o Ho o Tho

23. GFWE WM * fvg W WH A T

T & way 4, Frefafaa § 4 SR-a1/

FH-Y FUA T B/R?

1. I8 R ¥ UhMs Tie & a9 H1 Aahal
Rl

2. I8 @A % favg wfosm #1 Iaure
Rl

3. U UHH T H AR <1 ¢ & T8 TR
F yaw K 2|
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i T g 2 1 wEm W s i
(@) a4 1

(b) FFA 2

(c) a2 3R 3

(d 1,23Rr3

24. 79 R A fr Hfwm § F= (FfFEE)

& g 87

(@) M R

(b) EHTIH FRHT
(c) < TRR FHf¥EE
(d) w&mfi RIfER

25. W% & IW@N & YRUTHEEY T

wa-ad wert g %) w@F R
Frerfirfn 3 & FH-a Fo T A7

(@ 3 -7 Frefieofm (FH-smifeiRew)
.

(b) A 5 3R e § Aeifa 78 8 £

(¢ I F5 i S99 ToElE G
Toraerera €t & R

(d) 3 wgeE ¥ fog wfnfea §)

26. Y R yoft HREEET ¥ ww WA 9w

gEAfTEl (wgshiaidl) § @ 98 S /9 S
44

(o) Gfea Tt

(b) TSTEA

(c) 3T 5a

(d) FRTE U (HemEreTse)



21. Which of the following statements as per Select the correct answer using the
the “Universal Declaration of Human code given below.
Rights’ is/are correct?

: . (@ 1 only
1. The Declaration provides that
everyone has a right to seek and (b) 2 only
enjoy in other country’s asylum
from prosecution in respect of (c) 2 and 3 only
political crimes. (d 1,2 and 3
2. The Declaration provides that
everyone has the freedom from
arbitrary deprival of nationality, 24. Which cells in human body have no
except for the freedom to change nucleus?

tionality.
nationality (a) Muscle cells

Select the correct answer using the
code given below. (b)

(c) Red blood cells

Phagocytic cells

(a) 1 only

(b) 2 only (d) Ciliated cells

(c) Both 1 and 2

(d) Neither 1 nor 2 25. The use of plastics has led to a number of

environment-related problems. For this,

: a 4 :
22. Which of the following UN organisations WhiEh OO o NG

has been awarded with Nobel Prize i 5

twice? (@) They are non-biodegradable.

o). FeC (b) They do not get released into water
(b) IAEA and food.

() UNHCR (c) They do not have any biochemical
(d) UNICEF synthesis activity.

: ] : (d) They are harmless to humans.
23. Which of the following statements is/are

correct about vaccination that provides
protection against an infectious 26. Microbodies found to be present in plant
disease? and animal cells contain

1. It blocks the entry of the infectious

agent into Doy (a) broken down membranes

2. It produces antibodies against (b) enzymes

infection. g¥ ;
: : ; (c) acidic fluids
3. It kills the infectious agent when

it enters in the body. (d) waste metabolites

SRSU-S-GKL/59A 11 P10



27. OR 3R 7y & femm wiosiamns domy ) =0

w7 &7

(@) TSRS
(b) R
(c) <TEESITH
(d) 3TEERE

28. ufedl 1 FH-w wyE, Beh DA w1 s

7 wqaiE o 87

(a) 3, Tefas (3nféais), fée
(b) TSI, TEYH, TSR

(c) TS, @S, TRYT

(d) 3, FEgH, WersH

29. deae § Afgs d=vor 93 w1 WA FQ F

o Frafoafaa & @ e daw/f drawt
1 394 TR ST 27

1. WiRa 3Ea IUR R

2. Wi 3fra W frd s =
3. 1-3¥ Wfeyh Wo o TAo 3Ro
4 moaoqq;oat

T R e e F N W g W R

(@) Fad 1 3R 2

() 1, 23R 3

(c) 33K 4

(d) ¥ad 4

30. Aftw Hifd % foradl ¥ waw ¥, FrafaRa

FoAl R =R v

1. @ 2022 ¥ wEh smo ogRwm
(Tdo o Tho) T wafda i 7 ot

2. THo o Tho T I Teio To Tho HINER
H Fraeht @i (wiR) & &9 3§ figq Rad
W R F A o
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TG HUA A ¥ FH-T1/AA-D |9 2/E7
(@ Fad 1

(b) e 2

(c) 1 3R 23

(d FN13Id2

31. 9% T gEHH (Tgo Wo 3mgo) F Rifim

FEGA % WRE 5 gay ¥, iR s w

foram Hifsr

1. s=go fo 3o A wufs awgsit
o & a9 3R farga 1 v et R

2. Tgo WMo ®o H FuA 3R fagg A
o § fafaffa el =1 wiw sfes
R

IR oA § A PH-A1/HE-2 T 2/E7

(@ ¥ad 1

(b) e 2

(c) 1 3R 23

(d A@|M13RIdH2

32. IR YW I Y F WY GH AWK FR

(TFo Fo o) § wifte B B, A wwa F

frafa 6t 9fg fafaRes § ¥ fm w ok

e

1. THo Tho To Wyesh (Rw) it gomn &
Yo § FHH i di

2. 3Igm & Frmt & ey § g2 A dm

3. wWwom () MR urv-w=mar
(wreerafett) sumt § ge i dm

4. 9ra # ghad el w1 W

5. 3 ug H 3w, REE Wy wRa g
AR FR (Tho o o) & Wik gan

= fag e e w1 wEm W wd W ghu

(@ 941, 3 3R 4

() Fad 1, 2 3R 4

(c) ¥a@ 2, 335

(d 1,2, 3, 43R5



29. Which

30. Consider the

27. An antibacterial enzyme present in saliva

and tears is called
(a) ribozyme

(b) lipase

(c) lysozyme

(d) isomerase

28. Which set of vegetables is underground

stem or modified stem of a plant?
(a) Potato, artichoke, round gourd
(b) Onion, garlic, carrot
(c) Potato, onion, garlic

(d) Potato, garlic, turnip

of the following indicators
is/are used to observe the monetary
transmission mechanism in the
economy?

1. Weighted average lending rate

2. Weighted average domestic term
deposit rate

3. 1l-year median MCLR
4. SDF rate

Select the correct answer using the
code given below.

(a) 1 and 2 only
(b) 1, 2 and 3
(c) 3 and 4

(d) 4 only

following statements

regarding instruments of monetary

policy :

1. Standing deposit facility (SDF) rate
was introduced in April 2022.

2. SDF rate replaced fixed reverse
repo rate as the floor of the LAF
corridor.

SRSU-S-GKL/59A
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31. Consider the

32. If India

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

following statements

regarding weightage of different articles

in Wholesale Price Index (WPI) :

1. Fuel and power have higher
weightage in WPI than that of
primary articles.

2. Weightage of manufactured
products in WPI is higher than that
of fuel and power.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

enters into Free Trade
Agreements (FTAs) with other nations,
then the growth of exports of India
would depend upon which of the

following?
1. Extent of tariff reduction vis-a-vis
MFN tariffs

2. Extent of relaxation in terms of
rules of origin

3. Extent of relaxation in sanitary
and phytosanitary measures

4. Level of infrastructure in India

Income in nations with which India

enters into FTAs

&

Select the correct answer using the
code given below.

(@) 1, 3 and 4 only

(b) 1, 2 and 4 only

(c) 2, 3 and S only

d 1,2, 3,4 and 5

[ P.T.O.



33. fr=fefad & & FF-T1 Iwgudl sifwams 37
(@ MgO
(b) P,O;
(¢ Na,O
(d) Al,03

34. A, T, TR IR URTAREA B Al
EA1 1 e FH HT 77
(@) =IH > I > ¥R > WgFiRaR
(b) =LA > YA > UEFRTH > T
(c) =R > AR > WA > TR
(d) WIEFARERA > & > Y > TR

35. fi=feRaa # & ®-91, HC1 % W9 Mg, Al
Zn 3R Fe $ stfufsramiicrar &1 qd %9 37
(@ Mg > Al > Zn > Fe
(b) I\./Ig>A1>Fe>Zn
(¢ Zn > Fe > Mg > Al

(d) Fe > Al > Zn > Mg

36. AT Ty () B &, s
(@) BT Sfagsg I Whica war &

(b) TS FFa F ANAA F rfeefipa B B,
S sy F Whied wal @

* (o) WA A § i o F sl
BT 8, S Sliageq 9 Whicd wal &

(d) ¥E 7Fa § co & adiFa B B,
it Sfiagea i whied &l B
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37. e #7127

(@) <1 TEifeH 3t #1 5-8% Hiel

(b) Vi § FElS 3T F 5-8% HA

(c) & ¥ TIATA H 5-8% A

(d) v § NiUstifs 3 =1 10-15% d9ia

38. F=fafaa & ¥ w-u1 afis dftmesa (e

Tefim) @ wafta 27

() aftia FHERS & Fro agEeda ae &
e

(b) aftfa wRwEmeTt % FR0 TREedE <@ §
ELE

(c) aftia HPmERmeTt % wRo auH & gis
(d) aftia wEmstt % wro qeEE # finae

39. F=fafaa & @ ford €9 & w9 o st AT ®7

(a) TFASHA
(b) THA
(c) TFTSHA
(d) TTEHA

40. F=fafad & @ FH-91 2 E YFEY FH1 9

& 27

(@) T
(b)
(c) A

(@ T



33. Which one of the following is an
amphoteric oxide?

(a) MgO

(b) P40,0
(c) Na,O
(d) Al,O3

34. The correct order of octane number
of butane, pentane, hexane and
cyclohexane is

(a) butane > pentane > hexane >
cyclohexane

(b) butane > pentane > cyclohexane >
hexane

(c) butane > cyclohexane > pentane >
hexane

(d) cyclohexane > butane > pentane >
hexane

35. Which one of the following is the correct
order of reactivity of Mg, Al, Zn and Fe
with HCI?

(aq) Mg > Al > Zn > Fe
(b) Mg > Al > Fe > Zn
() Zn > Fe > Mg > Al
(d) Fe > Al > Zn > Mg

36. Methanol is toxic because

(@) methanol coagulates the
protoplasm

(b) methanol gets oxidised to methanal
in liver which coagulates the
protoplasm

(c) methanol gets oxidised to acetic
acid in liver which coagulates the
protoplasm

(d) methanol gets oxidised to CO in
liver  which coagulates the
protoplasm
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37. Vinegar is

(@)

(b)

(c)
(@)

5-8% solution of acetic acid in
water

5-8% solution of carbonic acid in
water

5-8% solution of ethanol in water

10-15% solution of propionic acid
in water

38. Which one of the following is related to
global dimming?

(a)

(b)

(c)

(@)

Fall of atmospheric pressure due to
increased particulates

Raise of atmospheric pressure due
to increased particulates

Raise of temperature due to
increased particulates

Fall of temperature due to
increased particulates

39. Which one of the following is known as
cetane?

(a)
(b)
(c)
(@)

Hexadecane
Heptadecane
Octadecane

Nonadecane

40. Which one among the following countries
is not part of the Arabian Peninsula?

(@)
(b)
(c)
(@)

Kuwait
Oman
Jordan

Yemen

[ P.T.O.



41. 3THieH HEENW & "ay A, Frefatas §
PH-T1/PH-8 YA G B/E7

1. o= aft werEidl A g § sl gl
afte ofra =€ R

2. A O, @ W 6 g S 9
Rl

ﬁ%ﬁqm@wmmvﬁmﬁﬁm
(@) a4 1 ‘
(b) FaA 2

(c) 1 3R 23

(d F@13mad2

42. fafafga & @ F-w1 9 dea Red 9@ F
o T A e gen 7

(a) afi

(b) STAFAR-IHTHIF
(c) SuTEEm

(d) ITEIHAE

43. Ffafaa § @ #FA-1 3w wd gafea & 27
(@) TATR SS9 AR : IWES
(b) THRTAT TS FAARTY : 3EH
(c) TR IASNE AR ; ghEmn
(d) A FISG FEARY : ST W
44, AFEN ¥ TRAS I F way A, Fefefaa #
¥ HH-91/FH-8 FYH 9 8/87

1. 9ra ¥ yfd ¥R IR g8 A
2

2. Pt (@) # qa A wEn faw A @R
At R
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1 R T e F wEm W wd W g
(@ Fad 1

(b) Fee 2

(¢) 132

(d Fd@1MIA2

45. U (AfeR) 9o & dey ¥, Frafafas § @
FH-G1/PA-Y Fo T /7
1. AW % 9 A B g@en 9§, N a2
¥ R a &7 § 99 €|
2. @ M I F, M () [
& i | 9% A §
3. W wH ¥&E ¥ i e 9§,
Hiife A gmara 3R BT g S |
o€ T &

= g g e w1y =W EE W ghe)
(@) a1 '

(b) Faa 1 3R 2

(c) Fad 2 3R 3

(d 1,233

46. & % fRivanslt % MUR W AW F WER #

TR :

1. T % e & 39, w09, T g e
79, N A A e wa §

2. ¥ Y-8 ¥ FW 20000 Fe 3K
40000 e % i fomrs 2 &

3. % TF FER B A AW W
ST 7, Fife 3 fOw w9 A gatw B
fom § 9t "Aoeht ¥ wowk &k wue
a0 §

& IW g

(a) "FE

(b) TEN-T

(c) AEAHYT

(d) TETH-HYTE



41. Which of the following statements

regarding continent of Antarctica is/are
correct?

1. It has the highest average elevation
as compared to all other
continents.

2. Mount Vinson is the highest peak
of this continent.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

42. Which one of the following biosphere

reserves is spread over three States in
India?

(a) Nilgiri

(b) Achanakmar-Amarkantak

(c) Seshachalam

(d) Agasthyamalai

43. Which one of the following pairs is not

correctly matched?
(a) Ramnagar Wildlife Sanctuary :
: Uttarakhand
(b) Chakrashila Wildlife Sanctuary :
Assam
(c) Nahar Wildlife Sanctuary :
Haryana
(d) Kane Wildlife Sanctuary :
Arunachal Pradesh

44. Which of the following statements

regarding coconut production in

Lakshadweep is/are correct?

1. Productivity per hectare is highest
in India.

2. 0il content in nuts is highest in the
world.
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45. Which of the

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

following statements

regarding barrier islands is/are correct?

1. These are small chain of sand
islands that form offshore, far from
the coast.

2. Lagoons or shallower marshes
separate the barrier islands from
the mainland.

3. Such locations are hazardous for
settlements because they are easily
swept awa{y by storms and
hurricanes.

Select the correct answer using the

code given below.

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d 1,2 and 3

46. Identify the type of cloud on the basis of

the given characteristics :

1. High, thin, puffy white clouds of
ice crystals that look like ripples

2. They appear between 20000 feet
and 40000 feet above the Earth’s
surface

3. One of its types is called
a ‘mackerel sky’ because the
clouds resemble large fish scales,
especially when they are coloured
pink at sunset

Select the correct answer.
(a) Altostratus

(b) Cirrostratus

(c) Altocumulus

(d) Cirrocumulus

[ P.T.O.



47. & 7 fodiwaadl % R w sEm e (@

¥2) F YHR F gg=INT
1. I8 9Wel IR h RS umel ¥
T g gfeey 1 it e @

2. I8 THEHM WM YHR IR Fafe eom
e &t o B ®

3. I AMfE, I1 € BrRws, W ¥
Rl #a § S & feft ™ w

Rrt—= amrd = @ ger v @
it el &

Tl IW g
(@) FATFiH
(b) 33
(c) STEH
(d) FfERsi

48. TAWER TR (Tea R4d) ¥ way §, Prfeiag &

q FH-A1/3H-3 w8 /87

1. T o, e ofifs R @ w
AR W AR AP A
F1 T () sameft &

2. ey Rt wgw w2 A W P e
wit% 78 frdt fodiy 2w @ &3 § waw
FA 3R 98 ¥ Sl =0 F ey
3R wiftral ) gureRE e 3

3. it e R v Bn F, R R
IF @ A Rl oAl war %
TS e A

A1 fow me g2 @ o W g s g

(@ ¥ad1 ;

(b) Fad 1 3 2

(c) Fad 2 3R 3

(d 1,23R3

SRSU-S-GKL/59A

18

49. fi=fafad § ¥ F-A & Teel s

erea e R, fed @9 o 1031 &
FEIW R, TR F A 1 ofi?

(@) & 57 3t AR -ares &

(b) A-3fEUTfd F ¥ #§ Re

(c) &t wreh

(d) T Toe-fammea w ad-wa e wady

50. fofew gmr s # Yo % oy fwm F gay

#, Frfefead st w fer Hifve

1. W@ % fag fef forfa Aawsl 9 e
! fafen waR ¥ fyges wlim frerf

2. FRwH A vl St w wEr @
5 wfiera &1 wfvem e, aRk 3= =l
Bt ® I 1qaty @ W B ¥

3. W@ ¥ WHR F WY G §9 Y T
Toran stram

I @ T /P o w287
(@ 1

(b) 2

¢ 3

(d) I T

51. 194 ¥ & wRa ¥ ‘f-sheifehiwor’ ¥ s,

Fefafaa § @ F9-@1 9 R s
gwTfaa g o

(@) W IqreA

(b) Tt W I
(c) <R 3R W@
(d) a9 IqTEA



47. Identify the type of drainage pattern on
the basis of the given characteristics :

1. It represents the most common
pattern of streams and their
tributaries

2. It occurs in areas of uniform rock
type and regular slope

3. A map, or aerial photograph, shows
a pattern like the veins on a leaf—
smaller streams join the main
stream at an acute angle

Select the correct answer.

(a) Dendritic
(b) Radial

(c) Trellis

(d) Centripetal

48. Which of the following regarding gateway
city is/are correct?

1. City whose physical location makes
it a link between one country and
others, or between one region and
others

2. A gateway city exercises control
over a large area because it
commands the entry and exit rights
and powers for a particular country
or region

3. Most gateway cities are ports, many
of which were formerly adminis-
trative centres for a colonial
government

Select the correct answer using the
code given below.

(@) 1 only

() 1 and 2 only

(c) 2 and 3 only

(d 1,2 and 3
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49. Which one of the following has been

an

important early Chola painting

discovered at the Brihadisvara Temple,
Thanjavur in 19317

(@)

(b)
(c)
(@)

Buddha with Chauri-bearers on
either side

Shiva as Yoga-Dakshinamurti
Yakshi Kali

Parshvanatha with snake-hood on
a lion-throne

50. Consider the following statements about
the initial development of railways in
India by the British :

£

Private financial investors for
railways would get land free from
the British Government in India.

The investors would get a return of
5 percent on their capital from the
government if they ran at a loss or
secured inadequate profit.

The railways would be jointly .
managed with the government.

How many of the above statements
is/are correct?

(@)
(b)
(c)
(@)

1
2
3

None

51. Which of the following industries was
most affected by the ‘deindustria-
lisation’ of India in the 19th century?

(a)
(b)
(c)
(@)

Silk manufacture
Cotton textiles
Iron and steel

Woolen manufacture

[ P.T.O.



52. WA # WEH AT &% yRiF =001 ¥ ey ¥,

FrafaRea wet w fer 6t

1. TRiewme dgd, sewd dwesh o e
arit 3 e st IS YR w5
34 o)

2. G FA o % T X worwa
é%mﬁmaﬁ#aaﬁtﬁ_wml

3. T ARfew g A e s dmig
urdiEl f R B R wE ¥ R
S04t WAl % g ¥ w A ww
Hflaw rdta P = #1 fofa fomn)

ISP & A R /fha o wdt 2/37

(@ 1

(b) 2

(c) wsft

() =T

53. SR Hiewd e efrehiy & wifte @

(@) T waals @ (e doeifs
)

(b)) S WAl WA (Wedvd Yueifers
Gd)

(c) < FARHR GEAT (Fediuel Hher ©o)

(d) JAER I REARF T (TR U
WEifers ) 1 EheE
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54. frafafea # ¥ F9-@1 vom aifE siake

VM 27

(@) TR VYA
(b) T T VYA
(c) ehfer

(d) dESK 1

55. F=fefeaa # & S-w degadra vard 7 27

(a) HETee

(b) e

(c) =i (frew)
(@) e FenEs

56. T foi 5@ § Hifhw s % forg st F o1, M

e ffdm wen & wEa o, St oenfi-anh
YRR FR W M A W e F 32 w9
% fou frefafes & @ f¥9-w1 ey m
wm?

(a) 74 Forelt & A W @ 3 =l B v
T WHST T &

(b) 38 Tt R & @@ 3 vl w o A
T 23 °C W 99 W@ A AR difem
@ (31 25 %) it TR m s w |

() T8 A (AW A9 W) F W FR A
réa?mﬂﬁ«m%‘-i(méaaﬁﬁ)ﬁmﬂ
Ty e &

(d) FI9 GEH q9NH W W I F R
FRF @S



52. Consider the following statements about 54. Which one of the following is the first
the early phase of the National commercial space station?
Movement in India :
(a) Axiom Station
1. Ferozeshah Mehta, Badruddin
Tyabji and others formed the (b) International Space Station
Bombay Presidency Association. 2
(c) Galileo
2. Surendranath Banerjee and his
group planned an Indian National
Conference at Calcutta.

(d) Voyager 1

3. - Allan Octavian Hume decided to 55. Which one of the following is not a

create an all-India body as a rival to ferromagnetic material?
the above organisations to give vent

to the grievances of the poor and o
marginalised Indians. (b) Iron

How many of the above statements L

is/are correct? (d) Ferric chloride

(@) 1
56. On a day when I am in hurry to go to
b) 2 office, I have a fixed quantity of rice
which was just cooked and kept in a

‘ bowl. In order to cool it quickly, which
(c) Al

one of the following is the best option?
(d) None (a) Let it be kept on the table in a room
where there is no fan, no air
conditioner
53. The Giant Metrewave Radio Telescope (b) Let it be kept in a room with AC set

consists of at a temperature around 23 °C and

a ceiling fan (or table fan) operating
(a) a single parabolic antenna at slow speed

() multiple parabolic antennas (c) Let it be kept in a bowl of water (at
room temperature) and operating

iling f: table f t full
(c) multiple circular antennas & ol n o rape

speed
(d) a combination of circular and (d) Let it be kept in a bowl of water at
parabolic antennas room temperature only
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57. W wEER % weu §, fefiRen & @

FH-H1/FH-H Y TE B/E7
1. %€ Afis Joayg wRaE ¥ g
HR-THR AR B |

2. 98 fis Sy wiaE % fag 7 Faa
TF AR-G@EH dREh 2, 9w a7
THRI 3R TR, =R iR v 9
31 QUL 3 #eg waanT oft B

3. I8 "Rer guneiy faewm % e 2030
%1 wrEg= g Artelia R

1 R T Fe w1 W@ W @@ W g
(@) Faa 1 3R 2

(b) Faa 1 3R 3

(c) 1,2 3R 3

(d) FEE 2

58. fmfafad el w far Hif .

1. ¥Ra #, IR w5 =t FAR-afls far
Al g, 9 IW ARe Ny fEw
ATy Te oM wtn 2

2. a9 qHe % felt =aft @ fame w0 =
AfFR, WRA F HiuH & IF=e 21 F
aefa Rl & @ IR o1 e geq
2

3. WHa AfERI hit grEdw wwon #, vl
IUEF H I9hH weAla A fam =0 F
Jarfee R w1 oft Ig@ R

304 FUA § ¥ FH-A1 /-] T B/R?
(@) Fad 2 3R 3

() Faa 1 3R 3

(c) 1,233

(d) a1
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59. JMH FAeE & day §, fefafag § @

FH-HI/H-8 T T /&

1. ¥ AEeE § e B €, N S wew
T & oW & U () 78 & T

2. WM AR Fa yiug TH-gW A @A
W®H W AT F T H G
gl '

' i T g e 1 wEm R wd@ S g

(@ ¥ 1

(b) ¥ 2

(c) 1 3R 23M
(d FM1ATH2

60. JffY fower | wafta Fr=feRaa ot w few

Hife

1. ’® e f T gl (S
Torgeremgsive) ¥an 3, St 3@ AwfE d
% mrem | o fadied e e geiaRm
e Iy T B |

2. W fEEde-2/24, a1 ek 2
ITRt % g wem fown wn &)

S HYA A -1 /AR T /R
(@ Fad 1

(b) Fa 2

(c) 1 3R 23

(d @ 13dRITA 2



57. Which of the following statements about

‘Marrakech Partnership’ is/are correct?
1. It is an intergovernmental partner-
ship for global climate action.

2. It is not only an intergovernmental
partnership for global climate
action but also a collaboration
between governments and other
stakeholders like cities, businesses
and investors.

3. This partnership is guided by
the 2030 Agenda for Sustainable
Development.

Select the correct answer using the
code given below.

(@ 1 and 2 only

() 1 and 3 only

(c) 1,2 .and 3

(d) 2 only

58. Consider the following statements :

1. In India, the Special Marriage Act
protects an individual if one enters
into an interreligious marriage.

2. Right to marry a person of one’s
choice is an integral aspect of
one’s Fundamental Rights under
Article 21 of the Constitution of
India.

3. The Universal Declaration of

Human Rights also resonates
marital rights of every adult
consenting individuals.

Which of the statements given above
is/are correct?

(@) 2 and 3 only

(b) 1 and 3 only

(¢ 1,2 and 3

(d) 1 only
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59.

60.

Which of the following statements about
the International Court of Justice is/are
correct?

1. The Court consists of members,
wherein two members cannot be
nationals of the same State.

2. The General Assembly and the
Security Council proceed
independently of one another to
elect the members of the Court.

Select the correct answer using the
code given below.

(a) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements

regarding Bhoonidhi Vista :

1. It is a data visualisation service of
Bhoonidhi providing full resolution .

mosaicked data visualisation
capability through Web Map
Service.

2. Itis enabled for ResourceSat-2/2A,
Sentinel 1 and 2 satellites.

Which of the statements given above
is/are correct?

(@)
(b) 2 only

(c) Both 1 and 2

1 only

(d) Neither 1 nor 2

[P.T.O.



61. 9 i LA ¥ ARG G20 Rrew aiem, 64. fr=fafea & | foras wgeg gg=a o Riftem
2023 & Frfafaa # & ¥9-3 kg A7 % RO A (o) Wegy hi S 27

1. i@ faem
2. THo o Sfto W yifa # st &
3. wigen-Ageandia fawm

(a) %% Hg
(b) Tt ¥ femm awa

(c) W 3R ge vt
i faw g e 1 W W T I g

(d) T3 % ard
(@) Fad 1 3R 2
65. v Sl F ™ A 5 R, @ fow (@) F
() Faw 2 3R 3 IR AR H UREH A WE I iR e
e B W R qe Fefife § 4 feew
¢ 1,23R3 Fofi YR % HROT Bl 27
(d) Faa 1 3R 3 (@) =&
| (b) WA
62. I TR H Hh 9 TH FesEa a5 2, S (c) TSNS ¥
s ab
Frafefaa & @ fora Aoft § dafta 27 @
(@) FE-TEE AT
66. Frfifad § ¥ FF-a1/F-2 Fu7 v 2/37
(b) TERETEE 1. e o do uwhifeeEns (Rwwer)
g} % ARG TR (Re) i 39
(c) A | fad Fima 1 Tw =@, Ed 2w h
S Sfto Eo o adl B
@) ol 2. Sfto o do IuEhifderra w1 IwFM
g Y arEfas sfo o dro Y
63. P & ¥ fred, ™ # =1 T T o % o R st owww g, 3 fe
we Prifaa g 87 Wﬁaﬁmﬁmﬁ%m
(@) 3o Ho Ho 1 e e g2 w1 @ W wd 3w g
: (@ ¥ad 1
b) 3RS
i (b)) FaA 2
(c) wiER (€ 1323
(d) =R d Ad1dRTH2
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61. Which of the following were objectives of

the G20 Summit, 2023 under India’s
Presidency?

1. Green development
2. Accelerating progress on SDGs

3. Women-led development

Select the correct answer using the
code given below.

(@ 1 and 2 only

(b) 2 and 3 only

€)1, .2 ahd-3

(d) 1 and 3 only

62. The causal organism of dengue fever is

a mosquito-borne virus which belongs
to which one among the following
categories?

(a) Flavi-ribo virus
(b) Adenovirus
(c) Vaccinia virus

(d) Nipah virus

63. From which among the following are

blood clotting factors released?
(a) RBCs

(b) Eosinophils

(c) Platelets

(d) Monocytes
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64.

Pulse is felt due to the rhythmic
contraction and relaxation of the

(@) chambers of heart
(b) valves present in veins
(c) aorta and main arteries

(d) valves of heart

65. When eggs are heated, the transparent

liquid portion around yolk turns solid
and turbid white. This happens due to
the thermal denaturation of

(a) fats
(b) proteins
(c) ribose sugar

(d) carbohydrates

66. Which of the following statements is/are

correct?

1. GDP deflator captures the average
price of an unchanging basket of
commodities that constitutes the
GDP of the country.

2. GDP' deflator can be used to
measure the real GDP of the
economy but not the inflation rate.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(¢ Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.



67. fr=fafad # ¥ FA-91/P-2 Fo= v 2/37

1. Hma goehih wwdl % fr fRr g
(k) it 3fma fwa § giEdT
Tifar #1

2. IR FHa gEHH N AH iR 67 a6t §
FH: 100, 110 3R 121 W@ B, @
T 3R W a9 § gErehifa i <
10% 3R 21% B &1

i o T e 1 W AR wé I ghe)
(a) a1

(b) a2

(c) 1 3R 23E

(d @ 13RIA2

68. fi=faifad # & FF-w1/FH-7 FuF 4 /87

1. 9Rd #hi Al swfaa By e g
% ¥ § uifiq §

2. Tt T ¥ gm omfym A ¥ w9 &
faeeht gz arfe @ i B @ T
Bt R

1 o ¢ g2 1 W W @ W ghu)

(@) Faa 1

(b) Fad 2

(c) 1 3R 23E

(d M 1IMAA 2

69. Ffafaa § ¥ F-w1 wuv o 7 27

(a) <SR 73 Forelt o =1 atfres Seareq s
B, S UHRIH STRIal 39 Ll B

(b) WIS FTAH YW A % oI wR g

TgE WiE it I=am dimn iR S
(%9 T 38) 1 3w for e R
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(c) UHERICHS TRIAl Ic9d A arell foreht
nfafafy % e #, iR B Tzawn
Tf¥, sEam W A oy oiR fsh @y
F i A1 HAR A R

(d) BT AT A T (S 3 i)
FHRTCH STRIAT 1 Teh ISTeT B |

70. Sito THo Fo & way #, frafefaa § & F-w

ERER

(@) ¥R & WU % 1153 g9ied § 7ma
31 % fog Yewretar R afe ddferm
SR H o THo Ao H Wt A T
@1 T R

() YR % WRum F 1229 wWwR F
Faq AFE I & T ARl W
Sfto THo o F Hm A aTR @ T R

(c) I 91g3dt | o THo Fo & iafa
1% 1 T F TR S R

(d) T @@ W W 025% A A W
T ST R

71. T F T W g GG (2009) H

R & way ¥, fefoRes & @ Fw-my/

HH-V FYF T B/8?

1. gfafd 3 o sfaa T wed e
AR (SThe) H IEE aefivr iR wrEd
et TR I w Puifa =3 R
e & w9 ¥ fopa B

2. 4ffd A et Y@ ® iR a@m
FeAr AMES! W R W &)

H= fiw g e 1 @ W @ W g

. (@) FEE 1

(b) FaA 2
(¢ 1 3R 23
(d IR 1T 2



67. Which of the following statements is/are

correct?

1. A price index captures the change
in the average price of a constant
basket of commodities.

2. If the price index takes values 100,
110 and 121 in three consecutive
years respectively, then the
inflation rates in the 2nd and
3rd years are 10% and 21%
respectively.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

68. Which of the following statements is/are

correct?

1. Most of India’s reserves is held in
the form of foreign currency.

2. There is no cost of holding foreign
currency as reserves by a nation.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) - Neither 1 nor 2

69. Which one of the following statements is

not correct?

(a) The market mechanism over-
produces a good that generates
positive externality.

(p) A cap and trade of pollution
permits can be used by the
government to achieve the social
optimum.

SRSU-S-GKL/59A

(c) The optimal amount of subsidy in
the case of an activity that
produces a positive externality is
the difference between the social
benefit and the private benefit at
the optimum.

(d) Tragedy of Commons is an example
of negative externality.

70. Which one of the following statements

regarding GST is not correct?

(a) Amendment 115 to the
Constitution of India kept alcohol
for human use and five petroleum
products outside the ambit of GST.

(bp) Amendment 122 to the
Constitution of India kept only
alcohol for human use outside the
ambit of GST.

(¢c) Precious metals are taxed at a rate
of 1% under GST.

(d) Unworked diamond is taxed at a
rate of 0:25%.

71. Which of the following statements with

regard to the Report of Tendulkar

Committee (2009) on poverty estimates

is/are correct?

1. The Committee had wused an
all-India urban poverty line basket
as a reference to derive both rural
and urban poverty levels.

2. The Committee had anchored the
poverty line to the official food
calorie norms.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only
() Both 1 ahd 2

(d) Neither 1 nor 2

[ P.T.O.



72. WAEH IR W Fx WHR 5 F F/F

frafofas & ¥ FF-w1/a9-2 w2 79 F
w1y gren TE A siar @ /fw s ¥7

1. Td 3R Yo
2. fafew 3R o
3. T sfofes 3o o

= few T g 1 W@ W w@d W ghe)
() Fad 1 3R 2

() 1,23R3

(c) a3

(d) Faw 2 3R 3

7o, w = s e A (et T 2

Fora /R w i o R7

1. HWEE1 A (3 IP) F SHEE H
SR
2. A wrfierd &

3. fa s Ieareswar

= fou T F2 w1 T W w6 W g
(@ ¥« 3

. (b) Faw 133

(c) Faa 1 32

(d 1,233

SRSU-S-GKL/59A 28

74. WA SR % fow gz A M1 i 3,

Frafafaa & @ *9-3 aftifea &7
1. wfya By

2. HA

3. afees s

4, Wi S

2 few T g =1 W W v W gRuy
(@ Faa 133

(b) 23R 3

() 23R4

(d 1,33R4

75. f=fafaa § § F¥F-w1 $9F, 9@ 5 e W

I @A & G99 | T TE 27

(a) A W IAR A WA FA ¥ FEE
=1 T2 fen s )

(b) TFa W AR ¥ fRw A affa few
T2 A I e R S R)

(¢ TN (¥he-¥e) wia i @lie ik feh
F gha el IR ¥ wiva T& R
s

(d) wFa W dsit oo § ge-ghat S
e TR s 1



72. Which of the following components of 74. Which of the following are included in

Central Government taxes on petroleum M1 definition of money for the Indian
products is/are not shareable with the economy?
States?

1. Reserves

1. Basic Excise Duty
2. Currency

2. Additional Excise Duty 3 T d it
A ime deposits

3. Special Additional Excise Duty 5 Dl Adodti
; and deposi

Select the correct answer using the

code given below. Select the correct answer using the

code given below.
(@) 1 and 2 only

(@) 1 and 3 only

(B) 1,2 and 3
(c) 3 only (b) 2 and 3
(d) 2 and 3 only (c) 2 and 4
(d 1, 3 and 4
73. Level of per capita GDP depends upon
which of the following? 75. Which one of the following statements
is not correct for National Income
1. Proportion of population in the Accounting for India?
working age
. (a) Imports are subtracted in
2. Work participation rate calculating Gross Domestic

Product.
3. Per worker productivity
(b) Net factor payments earned from
abroad are included in Gross
Domestic Product.

Select the correct answer using the
code given below.

(@) 3 only (c) Purchase and sale of second-hand
goods are not included in Gross
. 1end 3 otily Domestic Product.

(c) 1 and 2 only
(d) Inventories are included in Gross

(d) 1,2 and'3 Domestic Capital Formation.
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76. fFet Tog & WM SUgE gam AT 9% R 79. T=fafaa # & fras = afe @ 7
qUid: AeER A 9% % e\, A § [d

FHH % HRO T BT @ BeF,
(@) GJeH ha 3R A7 gfg
(b) SiO,
(b) HgeH hima iR AET § HH
() NClg
(c Hugew #En # wf R fwa d wE
e (d) K,S
(d) dgeq fma # ghg R A A wE
afad e
77. L;]N%a?,BesﬂzoﬁmﬁmeEﬁm a0, Bk Smon i 4
: FH-H1/HH- HUF Fet /7
(@ Na>Li>Be>0 1. A SeEy aiffeo #, fem-2adft steramy
1 EF & @ guiian e 2|
o e 22 0 2. 7% g ) walive sfiww sy i 3,
S &l Wit of|a amE 0 feft afcw
(c Be >Li>Na>0O 2 S il
(d O > Be > Li > Na 3. 98 Soayg 4R usTe 3R geq femen #
T St R
78. frefafas # ¥ fFw A woneh +1 Iw@m
: ; = few T e 1 W@ W E@d I |
STUGH TIESIFIE I HIH TRGIHE § T o~ ™
% fore o stman 27
(@) Fad 1
(@) @ AR H,
(b) FaA 1 3R 2
(b) W® IR H,
(c) < (f51h) i H, (c) *aa 2 IR 3
(@) e 3 H, @ 1,233
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76. Under normal downward sloping demand 79. Which one of the following has the
curve and fully elastic supply curve of a highest ionic character?
commodity, an exogenous decrease in
demand would lead to

(a) BeFj
(a) increase in equilibrium price and
quantity (b) SiO,
(b) decrea'se in equilibrium price and () NCly
quantity
(c) decrease in equilibrium quantity (d) Ko S

and no change in price

(d) increase in equilibrium price and - ¢ i
no change in quantity 80. Which .o : the fo.l owmg statements
regarding ice-cap climate is/are correct?

1. In the Koeppen climate -classifi-
cation, the ice-cap climate is
signified by the letters EF.

77. The correct order of atomic radius of
Li, Na, Be and O is

(@ Na >Li>Be >0 2. It is the Earth’s most severe

climate, where the mean monthly
(b) Na > Be > Li> O temperature is never above
O degree Celsius.
(c) Be >Li>Na>0
. is climate i1s found in the Pir
3. This ¢li is found in the Pi
(d O >Be >Li>Na Panjal and the Great Himalayas.

Select the correct answer using the
78. Which of the following catalytic systems code given below.

is used for the reduction of unsaturated
hydrocarbon to saturated hydrocarbon?

- (@) 1 only
(a) Copper and H,

b (b) 1 and 2 only
(b) Iron and H,
(c) Zinc and H, (c) 2 and 3 only

(d) Nickel and H, (d 1,2 and 3
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81. afs Hifd ¥ wafa Frafafes d &

FH-H/HH-H H9 T 8/87

1. I8 afio 3R F shea-deft 4 o
Sa-9eft & gu 1 gfeds off, e
it & et st sfenfie @
Hefsgaee ¥ fydias &9 4 affla | @
Of

2. Y9 NeNfie wifa Sowedi wasdt %
AR § S |/ IR §R

3. efie wifd F dE e wem, 30k
% # T I ¥ Menfien fawm %
HIY-T1Y WY §5H H1 IR AT

9 fow T 2 w1 W@ W FEd W g
(@) Fad 1

(b) Fad 2 IR 3

(c %@ 1 3R 3

(d 1,23R3

82. I & Hay H, fr=fafea & ¥ H=-w1/

-8 FH e /27

1. A9 0-39 WIEHHIE | 0-76 HISHIHIR
W F WRA-JE JHa: @9 aal
Tarfertor grar 21

2. gt i 9F WAR® F FRO AQCH H
Toreror gt W EHE w9 A B B

H= g 1T e 1 W W wd W gl
(@ ¥@ 1

(b) ¥ 2

(c) 1 3R 23E

(d AM1IRTE 2
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83. 7@ famd ¥ waw #, frafafas § @ Fw-w/

P-4 FY T B/87

1. I8 7@ ¥ U U-AHR F1 01 Aa B

2. 3rcaftes dea faafda anl gu-shs e
%y W IR FN W EYED: TF B
(Fe-31T%) a1 99 A (AT oF) T4
ST R

3. foadfie Ium f oo @ T
fodor arf & @U-wy FeE I @
whdt 3, Fe@ swawffa @ mithg
forad san R

i fo U 2 w1 @ W g W ghu
(@ Faa 1

(b) Fad 1 iR 2

(c) Faa 2 3R 3

(d 1,23R3

84, %5 frft Ry v wm w fdt faw feq &

IMifees omgar F8 Fuffa = war 27

(@) I aomm e T &

(b) At frAe e 6 8 |

(c) IRt amm MR Fle ke 9t R e
|

(d) IR Fe s #1 wfowa e mn @

85. fre feem 9 @1 agHed § aiftean ofwa

Sfiem-Te g &7
(@ CFC

(b) CH,4

(¢) N,0

(d) SAd™

86. U SITATg FIHU & IFAR BW & 1 aead

B?
(@) VR SR
(b) WEUAE Ay

(c) 1 STy
(d) WA SaTg



81. Which of the

82. Which of the

following statements

regarding the Industrial Revolution

is/are correct?

1. It was change of a society from
a rural and agricultural lifestyle to
one in which most people earned
their living in the industrial or
secondary sector of the economy.

2. The first Industrial Revolution
began in Germany in the early
eighteenth century.

3. ‘During Industrial Revolution,
technological advances in iron
smelting, and later steel produc-
tion, were accompanied by the
invention of steam engine.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

following statements
regarding insolation is/are correct?

1. Insolation is predominantly short-
wave radiation, with wavelengths
in the range of 0-39 micrometre
to 0-76 micrometre.

2. Insolation is evenly distributed
across the Earth because of the
Earth’s curved surface.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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83. Which

of the following statements
regarding river meanders is/are
correct?

1. It is a U-shaped bend in a river.

2. An extremely tight meander is
called a gooseneck; it is likely to
become a cutoff, or oxbow lake,
after a flood.

3. Tectonic uplift can cause a river to
continue downcutting along its
meandering course, producing
incised or entrenched meanders.

Select the correct answer using the
code given below.

(@) 1 only

(bp) 1 and 2 only

(c) 2 and 3 only

(@- 1;"2"and '3

84. How can one determine the relative

humidity on a particular day at a given

place?

(a) 1If temperature is given

(b) If absolute humidity is given

(c) If both temperature and absolute
humidity are. given :

(d) 1If percentage of absolute humidity
is given

85. Which greenhouse gas has maximum

average residence ‘time in ‘the
atmosphere?

(@) CFC

(b) CH,

(c) N,O

(d) Water vapour

86. What does BW stand for as per the

Koeppen climate classification?
(a) Steppe climate

(b) Desert climate

(c) Tundra climate

(d) Mesothermal climate

[ P.T.O.



87. FH-W1 weA faguum: wenfodt it fawesmd
T yerifira e j7
(a) g wHf wEm w9 (e Yo
‘Fﬁo@o)
(b) 9 TRE HE BR AWM (SYo TxYo
Tho)
(c) Y Y FATGROT 1A (Fo THo Fo Fo)
(@) EIH TG e FrisEA (Zo To o Ho)
88. THY womr dem 2 Ffafaa # & fF w
o 27
(@) T, Bieea—SErRS
() W ® TR (R IR F@),
HIZIGH-HIGA
(c) SR, Hfe-yg=d
(d) TemEd 3R FEm, FHEHHE-Iga
89. FHNA FsR-yfH &1 77
(@ o, R fed ar al 4 wdf st ™
?
qftr, R & o 3 9 F fi" wedt S
™R .
(€ fi, TR & af & +n wg F fog =
Ber T ?
uftr, @ ufe ¥ Ifr avt & fog ot
e T R
90. fr=fvfad @ FH-T1/3-7 FI4 9 /87
1. 498 W aft wE & fag s
THEAM el ® SEfe Waw an uiafda
Bt B
2. o I ywerE W Aftwan B ?
3R yat W =Aad B R

#R Re T F F R W w@ W gh)
(@) Fad 1

(b) HaA 2

(c) 1 3R 23N

(d) @ 1INAE2

(b)

(@)
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91. @I ¥ N F1 & Hay ¥, Fr=faifad #uAl w
forem fifv
1. 32 ¥ & Mavifag | W foran
9|
2. e =R s ford 9, Y\ ww oA @
o6 39 32 =R widE wmwiedt 1 I35
)

3. I%M ToE W A R F el
¥ ¥ ¥ fodre # ifdey wnfya fomm
I HYE § ¥ PH-T/AA-A T /27
(@ 1,23R3
(b) Faw 2 3R 3
(c) Faa 1 3R 2
(d) *ad 3
92. T ¥ fHu I T I A9 § 9rg fER F

fufn & foo o oo & fo ™1 A
Treantea fopam an?

(@) WaH I
(b) TSRS I
(c) THEI
(d) FErgn I
93. T ¥ FH TS FURNHE & &R Ha TE
17
(@) Trm
(b) A
(c) HgHI
(d) Taam
94, fhgfaw) ok mesalt & wd fom Toggw &
o T wfeR & fret &7
(@) TR THI
(b) THTFS TH
(c) 3MERTE TP
(@) Pfd T



87. Which organisation publishes worldwide

list of endangered species?

(a) The International Union for
Conservation of Nature (IUCN)

(b) The World Wide Fund for Nature
(WWF)

() The United Nations Environment
Programme (UNEP)

(d) The United Nations Development
Programme (UNDP)

88. On which among the following is

National Waterway No. 2 situated?

(a) The Ganga, Haldia-Prayagraj

(b) West Coast Canal, Kottapuram-
Kollam

(¢) The Brahmaputra, Sadiya—-Dhubri

(d) Godavari and Krishna, Kakinada—
Puducherry

89. What is culturable wasteland?

(a) Land that has been left fallow in
last four years

(b) Land that has been left fallow
between one and two years

(c) Land that has been left fallow for
less than one year

(d) Land that has been left fallow for
more than five years

90. Which of the following statements is/are

correct?

1. Angular velocity for all locations on
the Earth’s surface is the same
while linear velocity varies.

2. Linear velocity is maximum at the
equator and minimum at the poles.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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91. Consider the following statements about

Rana Kumbha of Mewar :

1. He wrote a commentary on
Jayadeva’s Gitagovinda.

2. He wrote four dramas in which he
is said to have made use of four
provincial languages.

3. He erected Kirtistambha in Chitor
in commemoration of his victory
over Gujarat.

Which of the statements given above
is/are correct?

(a) 1,2 and 3

(b) 2 and 3 only

(c) 1 and 2 only

(d) 3 only

92. Who among the following Chola kings

encouraged the Sailendra ruler of
Sri Vijaya to build a Buddhist Vihara
in Negapatnam?

(a) Parantaka I

(b) Rajaraja I

(c) Rajendra I

(d) Kulottunga I

93. Who among the following was not a court

poet of king Krishnadevaraya?
(@) Timmana

(b) Dhurjati

(c) Mallana

(d) Siddheshvara

94. The royal portraits of Simhavishnu and

Mahendravarman are found in which
cave temple at Mamallapuram?

(a) Varaha Cave
() Ramanuja Cave
(c) Adivaraha Cave
(d) Trimurti Cave

[ P.T.O.



95. ¥fth Hfa TMea ¥ weaw #, F=fafea &

Tore /fpam o wdt B/%7

1. Y@ wda @ @ 6 =R sl i wiw
H IW WRA H ARG FA F e
i)

2. 9 @ GUEE Y IR IR e
Yerg 1 ferier o)

3. I HeR % T IR A
& IW gAY

(@ 1

(b) 2

) 3

(@) T

96. HHHH Wia # fafrear-wme i su@ geftm

vgfedt & wey §, Ffelaa # & fran/fraa

FYA wEl ¢/27

1. FAA-eeh wg  (Ree-$-gmeh) %
yf fafrer-wma A wegfa, omm
e wrdt fafeen-we gy &
HHH ot

2. ¥4 H w e f @9 F aR F
Rf T Fgw aFR g7 Rgw
AT Y FqRT T AT

3. W& IFW Al T w e
TehTea A 3R egdfes Tut & aftfa
1|

& IR g

(@) 1

(b) 2

c) 3

(d) g e
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97. ddear & way #, Frafafas § & w9-w1/

PH-A U T B/87
1. dflTER % IgE U WM e

TE3T—UHT, A1, HRTERYT, SRl SR
Taaerot | | ST R)

2. ddE o W wRERREge—Sw f
AT e S 2

3. ey fREgars & ARl g/ e
forr 9 9Tt 3me fam §)

= fa g gz W @M W '@ IR gAY

(@) *ad 1 3R 2

() 1,233

(c) *Had 1 3R 3

(d) Faa 3

98. FYR Nare *1 Yfaure fraa fFn?

(@) I
(b) HAFTH
(c) THHS
(d) Ty

99, f=fafga #§ ¥ H=-w1, AFa. AftErR wWew

wrfufigm, 1993 Ht it & =&t 27
(@) TER AFa AR

(b) T AHE ARHR 3T

(c) THa AHER =A™

(d) wHa AR gfteg

100. #flo Mo e F IFER, Fmfafad &

FH-H1 IS8 MR & WlAEH F 79 3R
e’ &Y

(a) FT7 15

(b) DT 21

(c) ¥T=% 23

(d) BT 32



95. How many of the following statements

about Bhakti poet Namdev is/are
correct?

1. He seems to have played a part in
transmitting the southern Bhakti
to northern India.

2. He was a rigorous monotheist and
opposed caste distinctions.

3. He was a devout follower of Kabir.

Select the correct answer.

(@ 1
(b) 2
(c 3
(d) None

96. How many of the following statements

regarding medicine and related
practices in medieval India is/are
correct?

1. Indian medicine of the Graeco-
Arabic tradition (Tibb-i-Yunani)

was almost identical in its
practice with contemporary Persian
medicine.

2. Harvey’s discovery of the

circulation of blood was explained
to a scholarly noble by European
traveller Francois Bernier.

3.. . The practice of smallpox
inoculation was described in
contemporary Yunani and
Ayurvedic texts.

Select the correct answer.

(@) 1
(b) 2
{c) 3
(d) None
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97. Which of the following statements about

Virashaivism is/are correct?

1. The Virashaivism traces its origin
to the five great religious teachers—
Renuka, Daruka, Ghantakarna,
Dhenukarna and Vishvakarna.

2. The \Virashaiva philosophy is
called Shaktivishishtadvaita—the
non-duality of God.

3. Ashtavarana are the eight rules of
the Virashaivism to be observed
by the followers.

Select the correct answer using the
code given below.

(a) 1 and 2 only

(b) -1, 2:and 3
(c) 1 and 3 only
(d) 3 only

98. Who propounded Kashmir Shaivism?

(a) Vasugupta

(b) Abhinavagupta

(c) Ramakantha

(d) Ranganathacharya

99, Which one among the following is not

under the jurisdiction of the Protection
of Human Rights Act, 1993?

(a) The National Human Rights
Commission

(b) The State Human Rights
Commission

(c) The Human Rights Courts
(d) The Human Rights Council

100. According to B. R. Ambedkar, which one

among the following Articles is the
‘heart and soul’ of the Constitution of
India?

(a) Article 15

(b) Article 21

(c) Article 23

(d) Article 32

[P.T.O.



101. T ¥ fFe 9% fre aifen qrr Y o, Rred 103. MG % HfAyW H wwe JAggst & e -

FORAEY MG % IHaW qEed 3 R % T % igEr, fefafas & 4 B et &
HUFR H g9 AR & ®9 F g ¥ H Y H U] B HY G R sAfemiar 87
wReg Fofa fen? :

1. TR I\ R
% e 2. FN i % ISR F w6y F o
3. N 9y & day & Huar o

(b) mﬁ&%ﬁwﬁ Eritc

= e 7 F2 w1 W@ W wd W gl
(c) =T Fo THo Feramh
: (@) Fas 1R 2
(d) =AY e 3Ro &q
(b)) Fad 2 3R 3
102. ¥RA % GAUH & SOTCHd G9EA & 9egm | (c) Faa 1R 3
el ef ¥, fafafas & @ w0 sl
foram T o /feeg T A7 o
1. ‘R, iR ot e 6w B
# ‘fERr, afeafs, fam, o ik
AT H WA gR S fern
I
2. ‘mﬁm’ﬁ‘ugﬁmaﬂt ; !
F@ear g wheefa fear T 104. it wEMPTR AR W 74l GO wE
; s foram mm en?
= few T g 1 W W EE@ SR gh)
(@) @I
(@) a4 1
b) T
e (b) TR
(¢ 1323 (c)
(@ T 1ITA 2 (@
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101. Who among the following filed the Writ

Petition that led to the famous verdict of
the Supreme Court of India recognising
the Right to Privacy as a Fundamental
Right?

(a) Justice P. N. Bhagwati
(b) Justice Rohinton Fali Nariman
(c) Justice K. S. Puttaswamy

(d) Justice Anil R. Dave

102. Through the Forty Second Amendment

to the Constitution of India, which of
the following was/were inserted into its
Preamble? :

1. ‘Liberty of thought, expression and
belief” was substituted by <Liberty
of thought, expression, belief, faith
and worship’.

2. The expression ‘Unity of the Nation’

was substituted by ‘“Unity and
Integrity of the Nation’.

Select the correct answer using the
code given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2
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103. As per the State List under the Seventh

Schedule of the Constitution of India,
the States have jurisdiction over
agricultural land in connection with
which of the following subjects?

1. Taxes on agricultural income

2. Duties in respect of succession of
agricultural land

3. Estate duty in
agricultural land

respect  of

Select the correct answer using the
code given below.

(@) 1 and 2 only

(b) 2 and 3 only

() 1 and 3 only

(d 1,2 and 3

104. The 7th edition of the Indian Ocean

Conference was held at

() Dhaka

(b) New Delhi

() Malé

(d) Perth

[ P.T.O.



105. G-I ® gA-1I & @y gafa Hifve ik

gt & 2 Ry T 2 H wE Wl W
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(trerifae faem) (Frem=r)
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B REEITEAEHEIR 2. GUN ¥5 914
A F dEa §

C. @ihd Aaed A ¥a@ 3. Thaud Fie
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sfe guft 1 wHM deam
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106. 38 ¥ ®N BR wWH % A : o
 HTNTHITE TEdh % @ &7

(a) &9 AT

(b) %o Sto THo fg
() TofmwEa
(@) R T T
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107. NRAW™ {1 I ATdhared] 1 THEET FH *® AU
wel ‘HiRew gdvfe Femn?

(a) TER
(b) TR
(c) 7 3R HIHR
(d) BTETG
108. F=fafae & ¥ f =l = w==0 wdawm

TR, 2023 & ddid, TOH WS TR
YR YoM TR m?

(@) IR 3R TFITRE
(b) TR I FW
(c) AR 3R @R
(d) T R AR
109. Fr=fefaa & & ®F-41, o 3Ro <o 3o g
Toeftra forn man waeeft srfee Tewa B7
(@) THH
(b) T91
(c) Te=m
(d) Imm
110. arw fig frafafaa # & fre @ @ w6ftm R,

St 2024 § ™ wREE IfWEERm #
woiyes Sfidr?

(a) i
(b) Tt
(c) ThRaTSh
(@) Fxd



105. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-T List-II
(Political idea) (Thinker)

A. Human beings, unlike 1. Aung San Suu
all other objects, Kyi
possess dignity

B. It is Swaraj when 2. Subhas Chandra
we learn to rule Bose
ourselves

C. Freedom implies not 3. Immanuel Kant
only emancipation
from political bondage
but also equal distri-
bution of wealth

D. For me real freedom 4. Mahatma Gandhi
is freedom from fear

Code :

(@ A B o D
3 5, 4 1

(b) A B C D
1 4 2 2

0 A B G D
3 4 2 1

(d A B G D
1 2 4 3

106. Who among the following is the author
of the book Four Stars of Destiny : An
Autobiography ?

(@) Sam Manekshaw

(b) K. J. S. Dhillon

(c) Bipin Rawat

(d) Manoj Mukund Naravane
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107. The Indian Army launched ‘Operation

Sarvashakti’ to flush out terrorists in
(a) Myanmar

(b) Manipur

(c) Jammu and Kashmir

(d) Chhattisgarh

108. Which of the following cities were

conferred with the cleanest city award
under Swachh Survekshan Awards,
2023?

(a) Varanasi and Prayagraj
(b) Indore and Surat
(c) Prayagraj and Indore

(d) Surat and Varanasi

109. Which one of the following is an

indigenous assault rifle developed by
DRDO?

(a) Heckler
(b) T91

(c) .Tikka
(d) Ugram

110. With which one among the following

sports is Yogesh Singh, who won a Gold
Medal in an Asian Championship in
2024, associated?

(a) Badminton
(b) Shooting
(c) Archery

(d) Wrestling

[ P.T.O.



111. vfag vl me g 3@, e T @

# 114. &g U e wrfiert (3o o $o o)
e @ mn, fefafee & @ fe =@ = '

F ey §, Fefefaa seEt w fa=r it .

113. YRdE & g B & § fofm fRnm mn

‘IRY W 3a q% gida Aege TRl o
(e-3-Ue RER Wema i)’
Frfefaa § @ F=-a1 27

(a) ¥9R (SANCHAR)

(b) A9 (VAIBHAV)

(c) "% (SAMPARK)

(d) @& (SAMBHAV)
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wfafAftrea et off? 1. I8 REA (To ThHo o To TWo) T
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(d) AT ST () 2
(c) 1 3R 23Ht
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116. UTE TEAN A (THo Hio 3fio) & Hay H,
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TeHifas R oATfdfer =gawen 1 Wedred
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2. TWo Hio Mo w1 Th W TeE B
IRH HoEl H § DH-T1/FH-T T /87
(@ Fad 1

(b) FaA 2

(c) 1 3R 23M!

(d qAdA1IARITE2



111. Renowned classical singer Prabha Atre,

who passed away recently, was an
exponent of which one of the following
Gharanas?

(a) Kirana Gharana

(b) Patiala Gharana

(c) Gwalior Gharana

(d) Agra Gharana

112. Who among the following was the first

Indian Commander-in-Chief of the
Indian Army of independent India?

(@) S. M. Srinagesh

(b) K. M. Cariappa

(c) K. S. Thimayya

(d) K. S. Rajendrasinhji

113. Which one of the following is an

‘end-to-end secure mobile ecosystem’
developed recently by the Indian Army?

(@) SANCHAR
(b) VAIBHAV
(c) SAMPARK

(d SAMBHAV
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114. Consider the following statements about

the Regional Comprehensive Economic
Partnership (RCEP) :

1. It is a comprehensive free trade
agreement between the ASEAN
member States and ASEAN’s free
trade agreement partners.

2. India opted out of RCEP.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

115. Recently the Government of India entered

into an agreement for a lithium
exploration and mining project with
which one among the following
countries?

(a) Brazil

(b) Australia
(c) Argentina
(d) Chile

116. Consider the following statements

about the Shanghai Cooperation

Organisation (SCO) :

1. One' of the goals of SCO. isiifo
promote a new democratic, fair
and rational international political
and economic order.

2. Iran is a permanent member
of SCO.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.



117. 3o Ho Hio 3W-19 Jeu frpe fam =,

2024 ¥ Hey #, f=fafaa § ¥ +9-u1/
FH-8 FUA T B/R7

1. sreforn 3 <heft IR 39 Raae =t s
2. A <fyor snhe § s S

9 fow ¢ e 1 @ =W IR g
(@) Faa 1

(b) Fad 2

(c) 13 23H

(@ AW 1AAE2

118. YRR WH ¥ = #, Fefofas &

PH-T1/HH-Q v GE /77
1. A ad 1972 # yRy fFam mm am)

2. W YR § H Wi dFgem T& fe
Sl

9 oy T F2 A E W wE W g
(@) Faa 1

(b) A 2

(c) 1 3R 23H

(d A 1IANAH 2
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119. fau <fgs duer @@ TW vl e
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117. Which of the following statements about

the ICC under-19 Men’s Cricket World
Cup, 2024 is/are correct?

1. Australia won this title for the 4th
time.

2. It was organised in South Africa.

Select the correct answer using the
code given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

118. Which of the following statements with

regard to Bharat Ratna Award is/are
correct?

1. It was instituted in the year 1972.

2. The award does not carry any
monetary grant.

Select the correct answer using the
code given below.

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2
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119. Which of the following statements about

India’s rank in the Global Innovation
Index-2023, published by the World
Intellectual Property  Organisation,
is/are correct?

1. India has been placed at 40th rank.

2. India has been on a rising
trajectory over the period
2015-2023.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

120. Which of the following statements about

‘Green Credit Initiative’ is/are correct?

1. It is a response to the challenge of
climate change.

2. It promotes plantations on
wasteland and river catchment
areas.

3. Itis a scheme of the Government of
India to replace the kerosene oil
with solar power used by the rural
poor.

Select the correct answer using the
code given below.

(@ 1, 2 and 3
(b) 1 and 2 only
(c) 2 only

(d) 1 and 3 only

[ P.T.O.
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